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AR NYEEI SH ISR P2
ZE: MHTYRE 2 6RDS
Tl XIQIMEIDS 2 oI7)|s &4 (ol &)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
207 AR 5,000 5,000
03 AlE 2| 5,000 5,000
Og+7 & wsss 23 5,000
405 XHeHESHI 300 300
02 SAMHI 300 300
o7 ¥ NsE TAHAFY 300
MNAXIIBED |2 29X2(=1) 176,681 176,580 101
= 53,004
& 123,677
101 @I244| 147,681 133,320 14,361
= 44,304
= 103,377
M IRIM2ENSES 147,681 133,320 14,361
OZERIINESEANE, SAEXH 147,681
= 44,304
= 103,377
201 LEr2 3| 14,000 14,500 A500
= 4,200
o= 9,800
01 At22telt| 12,000 11,500 500
OEE= HMAE, NFEESE S 7 12,000
= 3,600
& 8,400
02 2323l 2,000 3,000 A1,000
OHZ2E JIXM EHIE+ & A2E 72 2,000
= 600
< 1,400
202 Oib| 4,000 7,000 23,000
= 1,200
< 2,800
01 =i B 4,000 7,000 A3,000
OMAIXI ZAH, BAHH S 4,000
= 1,200
= 2,800
207 AN 11,000 20,260 A9,260
= 3,300
< 7,700
03 A& 22| 11,000 20,260 A9,260
OANEAHARE A, HIZ, JI7t & 7 11,000
= 3,300
< 7,700
SOt=HEd 29 27,845 28,100 A255
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A= MEEE= SH : NeisEs PR
M METREN ¥ HRDS
Tl XIQIMEIDS 2 oI7)|s &4 (ol &)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
101 el 23,845 24,100 A255
M IRNZ22NHSES 23,845 24,100 N255
SO0t=XIS AL Q14| 23,845
201 Zer2a| 4,000 4,000
01 At22teld| 4,000 4,000
OROt=MEH 22 MEMz 7L 4,000
23 NEd=E S8 d37 13,400 12,000 1,400
201 eEr=2E | 850 1,200 A350
01 AtR2teld| 850 1,200 A350
QUEE XA+ QI 850
206 M=l 11,250 9,000 2,250
01 =4 11,250 9,000 2,250
OOt =0] OHe & U=0IS Mz 7Y 11,250
207 AIHE 1,300 1,800 A500
03 Alg &2t 1,300 1,800 A500
od+s 48+ S 7Y 1,300
HENME HIOtS2E e & 2l 458,600 1,266,100 /807,500
AHAE st S22l 453,000 258,100 194,900
201 &gr2E 51,500 72,100 220,600
01 AtR2teldl 43,000 63,600 A20,600
Ou=d S At 43,000
02 S22l 8,500 8,500 0
0472 A2 § 223 7Y 8,500
202 O 3,000 3,000
01 =LHAbI 3,000 3,000
OHdl MEfSE & A=A HXI0H 3,000
206 M= HI 6,000 5,000 1,000
01 M=z 6,000 5,000 1,000
ONH&EN =2 =ots & M7 6,000
401 Al2HIZL 200 387,500 130,000 257,500
01 Al&H] 387,500 130,000 257,500
OotMst ZAACIE Fgt =RAE= 25 387,500
405 AHatE SH 5,000 48,000 243,000
01 MMMHESFISHI 5,000 48,000 43,000
O==ZHl WA S 5,000
=2 82 gdst 5,600 8,000 22,400
201 &Et2E | 5,600 8,000 A2,400
01 AtR2teld] 5,600 8,000 A2,400
O=8E clEA X & E2=28 72 S 5,600
E R 445,300 354,000 91,300
AL g2 445,300 354,000 91,300
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A= MEEE= SH : NeisEs PR
M METREN ¥ GRDS
tel EAz g (CH M)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
201 &gt=2E| 444,600 353,000 91,600
01 At22t2IH] 313,600 233,000 80,600
03HURY U 2E 7Y S(3=2L) 1,000
OFA SHIE DA U RXPE B8Y, 2
HA A S 312,600
02 S3=gH| 131,000 120,000 11,000
oXIIgs & U 28 Al S 131,000
202 04| 700 1,000 A300
01 =LHO LI 700 1,000 A300
OULSFA & LA HXI0H(SSH) 700
HY2AGH(AHHSZATRTH) 1,155,082 1,130,364 24,718
= 22,996
= 1,132,086
el 2E 1,117,457 1,092,619 24,838
= 22,996
= 1,094,461
723 Ad] X 783,815 777,110 6,705
101 el24b] 756,575 750,830 5,745
01 &= 756,575 750,830 5,745
oJlzs 592,948
(@)= 228,220
4= 88,256,000 1 88,256
53 69,982,000 »2& 139,964
OgeHy 364,728
6= 4,304,000 28122 103,296
-2 3,5614,000&x1&~12& 42,168
= 3,296,000 «1H =122 39,552
- TAL 3,744,000 x4 H =122 179,712
o< 91,676
OJE+g 8,640
p SN, 40,0002 «10H =122 4,800
-SYIE 20,0002 x16H =122 3,840
od2=¢ 30,394,000 »50%*22] 30,394
Oga2+=gitita 10,200
-25H0( & 130,000& «2& ~12& 3,120
-20~254 0|8t 110,000 x 18 x 122 1,320
-15~20=2 0] 8¢ 80,0002 x4~ 122 3,840
-10~15= 0/ 8+ 60,0003 18122 720
5102018+ 50,0002 x2&~ 122 1,200
olessa+<
4,000,000& =2 4. 1% 122 3,936
OJl=88+d 2,400
52 50,0002 x 1~ 122 600
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A= pyEAa SN TSR
N HY2IZH(NHEHARSH)
el I E2al EERED
4. 2A - BH . SA(S) - ARAY - BES 0l &t i HIDEZ
672 30,000 x2&x 122 720
B OIS E/IIAN
30,0002 +x3&x 12 1,080
Oougeg 80,0002 x4« 122 3,840
OAlte22+4
11,2442 x10+20A| 2+ 123 26,986
OS+x224Y(2)
40,000« 11H+ 128 5,280
OdHZAHI 18,480
OZASAHI 140,000& x11E+ 128 18,480
OEEFItI 36,473
OE &=l 30,394,000 x60%*22] 36,473
OS2 4| 16,998
O ItZ 4| 1,647,080 *86%* 12 16,998
204 MR AH| 27,240 26,280 960
02 Hg2xH 27,240 26,280 960
(OFS= BN 27,240
042 400,000« 18~ 128 4,800
O55 250,000 «2H*12& 6,000
Oz, ATAL 175,000 6~ 122 12,600
ora 165,000 x 18~ 122 1,980
O8= 155,000« 1= 122 1,860
A2 (RIHE) 22X B+ 132,4%4 124,178 8,316
101 @124H| 120,016 112,09 7,921
03 SR (RINHA) 22X+ 120,016 112,095 7,921
oJlzs 2,310,700 «32* 128 83,186
o32+< 2,310, 7002 x50%3 & x22| 6,933
OAIRII 2R
12, 7133 * 150 3A1 2H+3B » 122 2,060
O%xRESRIE
12,7133 +BAI 2% 10«3 3,052
O ]
12,7133 *150%+10A| 2+3E + 123 6,866
OgZ =l 2,310, 7002 ~60%+2 2/ «3H 8,319
(©F=za:] 140,000& x3&*12& 5,040
Oun =l 100,000 x3&* 122 3,600
OJtE=E 40,0002 x2& x 122 960
M HASFEESS 12,478 12,083 3%
M BRA(RIAHL) 22X 2EEERES S 12,478 2,97 9,507
OAlgaeld 12,478
ANSASLJA(RIH ) 22X B 41,886 38,757 3,129
101 e124b] 37,875 34,984 2,891
03 SRE(RINH) 22X+ 37,875 34,984 2,891
oJles 2,228,310 x18~12& 26,740
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A= MEEES 2N 0 JHSEARSE
HH: SN (XHYADT)
chel: ol g CERE)
AR .S - FH . COP(BH) - IRA - BAS 0l Ao i HDS2
(OFSFaE=; 2,228,310& x30%*23| 1,337
OAIZtel2R4Y
11,9783 * 150%*3A| 2t + 1H + 122 647
G BIEN 95,8062 1210 950
oYLy
11,9873 *150%* 10A| 2t 1H x 122 2,158
OYEZItHI 2,228, 3103 x60%* 1 23| 2,674
O3A| 140,000& x 15+ 122 1,680
OnsH| 100,000& 1 *12& 1,200
oJEsY 40,0003 x1H+12& 480
34 AZIREL3SS 4,011 3,773 238
M B2LA(LIH 22X BEEH2EH2 S 4,011 928 3,083
OAIZAIRA 4,011
SOIEXNSAHRIIHS) 220 B4 82,610 79,14 3,456
101 2124 | 75,368 71,452 3,916
03 SRH(RINHS) 2222 75,368 71,452 3,916
oJ|1z2 2,110,490& x2H » 12& 50,652
08245 2,110, 49024 * 15%x2% <23 1,267
OAIRI 2R
11,0423 *150%+ 124 2H2H * 122 4,771
ORIz IIE 88,3363 x2H + 12 2,121
oOsg2RY
11,0423 % 150%* 12 A 22+ 122 4,771
OEEF It 2,110,490 x60%*2 H x23| 5,066
O3A| 140,000 x2H 12 3,360
OnEH| 100,000 =29 = 12& 2,400
oIIEE 40,0003 x2H* 123 960
M HAZRE3S 7,242 7,702 A460
M 22A(LIHeH 22X BE828E2 S 7,242 1,84 5,348
OS0t=XI T At 7,242
NAXIQIEED |2 XS 222 QIAHIXR(=Z1) 76,652 73,420 3,232
= 22,996
T 53,656
101 C124H| 68,963 66,690 2,273
= 22,996
T 45,967
03 222 (LI|HH 2224 68,963 66,690 2,273
ooi7e B2 68,963
OPI="= 51,258
= 17,684
= 33,574
(OFSFaE=; 1,282
= 385
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